
Changing The Subject Answer Key 
a) 

x = y ‐ 3 
b) 

ݔ ൌ
ݕ
5

 

c) 

ݔ ൌ 	
ݕ െ 5
2

 

d) 

x = 3y ‐ 18 
x = 3(y – 6) 

e) 

ݔ ൌ
15 െ ݕ3

6
ൌ
5 െ ݕ
2

 

f) 

ݔ ൌ 	
ݕ3 ൅ 2
5

 

g) 

ݔ ൌ 	ඥݕ െ 5 

h) 

x = 2y² + 5 

i) 

x = 125 + 9y 

j) 

ݔ ൌ 	
െ5ݕ െ 4

2
 

k) 

ݔ ൌ
െ7

ݕ6 െ 3
ൌ

7
3 െ ݕ6

 

l) 

ݔ ൌ 	
െ݀ െ ܿ
ܽ െ ܾ

ൌ
ܿ ൅ ݀
ܾ െ ܽ

 

 

 

Changing The Subject Answer Key 
a) 

x = y ‐ 3 
b) 

ݔ ൌ
ݕ
5

 

c) 

ݔ ൌ 	
ݕ െ 5
2

 

d) 

x = 3y ‐ 18 
x = 3(y – 6) 

e) 

ݔ ൌ
15 െ ݕ3

6
ൌ
5 െ ݕ
2

 

f) 

ݔ ൌ 	
ݕ3 ൅ 2
5

 

g) 

ݔ ൌ 	ඥݕ െ 5 

h) 

x = 2y² + 5 

i) 

x = 125 + 9y 

j) 

ݔ ൌ 	
െ5ݕ െ 4

2
 

k) 

ݔ ൌ
െ7

ݕ6 െ 3
ൌ

7
3 െ ݕ6

 

l) 

ݔ ൌ 	
െ݀ െ ܿ
ܽ െ ܾ

ൌ
ܿ ൅ ݀
ܾ െ ܽ

 

 


